3 (Sem-5) HISM 1
2016
HISTORY
( Major )
Paper : 5.1
( India under the East India Company )
Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks :
Jor the questions
Answer all questions
Answer either in Ehglish orin Assamese

1. Answer in one word or in one sentence : 1x7=7
B A 9B IR T i
(a) Who was Count de Lally?
FED & 7T @ =ifeet 2

(b) Name the Mughal emperor who had
granted ‘firman’ to the East India
Company in 1717. {

3439 5% 2B W @ Race owe
1 G FRE = 3 wifeE o

(¢) In which year the first rupee of the East
India Company came into circulation?
28 W @R T S v 29w @
oS C3feE 2

A7/357 ( Turn Over )



(@

(e)

(g

2. Answer in brief :

(2)

Who was called the ‘Tiger of Mysore’?

TR I T R e ?

What was the ‘sunset law’?

7%%’&%?

Name the British officer to whom goes

~ the entire credit of the suppression of

the Thugs during the time of Bentinck.
@FPEa TS 3 AT WH FWE OIS
e it e s sfe ewerd fte 2

Name the State which was the first
victim of Dalhousie’s Doctrine of Lapse.
ceeiefod Feceel MeF a2 gerem T
- B |

E{Wﬁﬁﬂ:

(@) Mention two significances of the

(b}

A7/357

acquisition of Diwani of Bengal by East
India Company in 1765.

save TS 3¢ 47 @AAE N et

=S 19 501 3R forei |

What were ‘Mal’ and ‘Sair’?
T’ = o3 S i 2

( Continued )

2%4=8

(c)

(d

When was the
signed and w
document of fz

Maweif ofe @
Fiosee 9 e
FA=|?

Name two lead
1829.

svas R R R

3. Write short notes
following :

wor| & e fehem e

(@)

(b)

(c)

(d)

()

A7/[357

Rural Indebtec
R YererES
Treaty of Bass
@ E]%; (s¥o
Haidar Ali
T =
Bahadur Shab
2 BIR TS
Doctrine of La
TR e



(4)

4. Answer any three of the following questions :
10x3=30

oo e R e fefeR T fape

(a) Who was Ranjit Singh? Give an estimate
of the Anglo-Sikh relation under him.
e B @ fEE 7 (997 TS T[S WE
e T ot GfS e 4 |

(b) ' Critically discuss about the Permanent
Settlement of Bengal introduced by
Cornwallis in 1793. .
save We Ff wore w1 Bl
TR @b SRS JoAE ST |

(¢) What was the Subsidiary Alliance? How
did Lord Wellesley use this policy to

bring Indian States under the East
India Company?

wireree figer A & wifer s
@ 9 WA @nafi s Az
T 2B X G S wfifee 2
(d) Discuss the causes and nature of the
tribal movement in your period of study.
(ORI SRIFE WEsfs TFRIRATS (24l Serey
ST A S AT ST 3447 |
(e) Can the Revolt of 1857 be called the
‘First War of Indian Independence’?
Discuss.
sves PR RuEry ‘sRet sun e
s 3 93 oz 2 S = )
* ok A
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3 (Sem-5) HISM 2

2016

HISTORY
( Major )
Paper : 5.2
[ History of Assam (1228-1826) ]
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer all questions

Answer either in English or in Assamese

1. Answer the following questions in one word or
in one sentence : 1x7=7

T i erprd BRSBTS A1 @by A e :
(a) Who is the “author of Padshah Namah?
“ofpTE AT G G ?

(b) What are land grants in favour of Satras
known as?

w%ﬁﬁmwﬁﬁmm?

() In which year Wwas the Treaty oOf
Asurar Ali concluded?

PR = R T T Ty v ?
A7/358 ( Turn Over )



(2)

(d) Who was Nilambar? 3. Write short notes
R @A A 2 followingd
‘ oo R e TS
(e) What was the Ahom officer appointed to S i
administer the Sadiya region known as? _{a) Narayani coins
(i1 e =P SRR e fa s Rew- TR
T G GafEE 2
T
() Who were Haradatta and Biradatta? () Temples of pre
TG A TS G A 2 TE P fo
(g) What is hearth tax? N Ml_lhammadan
ogE 79 7 2 thirteenth cen
o3 M1 T2
2. Answer the following questions in brief : (d) The Posa syste
2x4=8 CATOT &=t

O APTRA Teq frn :
. b (e) Phuleswari Kuj

(a) What was the importance of the Gohain T 3
Kamal Ali? 4l

crafee e = Ry awerd SifkE e

(b)) Who was Abu Bakr?

4. Answer any three of

o 9 T HikE 2 i e i cee ot 2
(c) Who was Ramani Gabharu? Afa) What light ¢
o e Charitputhis th
G Sfeet 7 medieval Assan
(@) Why did the Kacharis abandon Dimapur? ' TR o o
SRRPE TR Ry ey v 2 ‘ SRS (CTHCA T
A7/358 i A7/358

( Continued )



(4)

\(y/ Trace the emergence and growth of the
kingdom of Kamrup-Kamata. What were
the causes of its downfall?

I -FTO T W SUFR A fomr
@2 TR AT FE F HifEE 2

A Give an _ account of the Koch-Ahom
conflict.

@ F PR oS W o b Qf){-
Rz foam B,
753
&

_{d) Why did Mir Jumla invade Assam and {ﬁi\(«
with what consequences? />

Rt e wm s R o W |

el & wiifE 2 Sl {
&/
() To what extent was the Moamaria ’f»

Rebellion responsible for the weakening

of the Ahom Kingdom? C f
Rz R #if{aes vl e 2 g‘“

() Discuss the circumstances leading to the
Treaty of Yandaboo.

@R “fifEfes e A e tafa,
ST 41 |

* Kk ok
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3 (Sem-5) HIS M 3

2016
HISTORY
( Major )
Paper : 5.3
{ History of Europe 1789-1870 )

Full Marks : 60
Time : 3 hours
The figures in the margin indicate full marks
for the questions
Answer all questions

Answer either in English or in Assamese

1. Answer the following questions in one word or
sentence : 1x7=7
R 2P $6q By ¥ 41 IS fry

(@) Name the last ruler of the Bourbon
dynasty of France whose reign saw the
outbreak of the Revolution of 1789.
FPE T I0A CIEE IS[ AW B feew
*PEFETS Savs 4 Ko =g tafee |

(b) Who was Marie Antoinette?

R TS T AIfEET 2

(c) Who said, “Men are born free and remain
free and equal in rights”?

TR T A G2 w0, WA 02 s W e
SR T 17 FAER I Cofe 2

A7/359 ( Turn Over )



(2)

(d) Why is the Battle of Waterloo called a
decisive battle?

A6 s 93 Praed g& 9 o oo =0

(e) What were the three principles that
governed the Settlement of Vienna?

@M fSfor Tifse eme fBfe =R Rum swe
I bR, . - -

(/ Who insulted the Holy Alliance’ as ‘high
sounding nothing’?
“iffa fe's @I @ ANTT I Torp
w2

(g9 Who was the founder of Young Italy
Party™?
TR WA '] Ao @ e 2

2. Answer the following in brief : 2x4=8
wore frarTyRa Wiy Teg fro

(a) What were the two important problems
before the Legislative Assembly of 17917
5455 BIS CEARMCADS GTRA TS 4 ToE
T o1 R e e

(b) Mention two demerits of the Treaty of
Versailles.

IR 59 701 S Teme #4 |

(c) Mention at least two causes of the failure
of the Frankfurt Parliament.
QFRCFID ARCES 4 (AR TS B P
fer 1

A7/359 ( Continued )

(@)

Name four coun:
repercussions of
of 1848 was seer

[WEEE ok (PR
45! Reaq A=9

3. Write short notes ¢
following :

o R e ShER e

(a)

®)

(c)

(d

(e)

(1]

A7/359

Congress of Veror
COCIMT TR (5033

July Revolution o

Steo T gER [Red
Crimean War
e &

Results of the Ba
O YA FEAFA

Mazzini’s = contr
Unification

RN AR IR

Napoleon IIT
PR el



(4)

4. Answer any three of the following : 10x3=30
o i e foft e e i

(a) Analyze the character of the French
Revolution. Do you consider it to be a
bourgeois revolution?

0 Rema oi@ ~ficemsn 741 1 @2 Rews et
PR 7R Al Rem I SRR 2

(b) Can Napoleon Bonaparte be called the
Son of the Revolution? Justify your
comments.
e @GS Ree @M IRM e 2
e wfig T fan |

(c) What was ‘Metternich System’? Why did
it fail?
‘o e & it o 2 R e 2 2

(d) Give an account of the Revolution of
1848 in France. What were its results?
sv8y o FWe il R aft R fan
A T [ wifke 2

{e) What led to the Austro-Prussian War and
what were its results?
=R o IR T 3w tRe we T
waRre {3 onfee 7

() “Cavour was the maker of modern Italy.”
Elucidate.

‘el iftE SEe WER e 1 g
o

* %k
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2016

HISTORY
( Major )

Paper : 5.4

( History of Science and Technology

in Pre-colonial India )

Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks

Jor the questions

Answer either in English or in Assamese

1. Answer the following questions in one word
or in one sentence each : 1x7=7

s ol RSl 25 T 9Bl X% 31 BT qres B

(@)

(b)

(

A7/360

What do you understand by the term
Homo sapiens?

2T e 3 3 B @

-Who can be regarded as the TFirst Ape

Man”?
‘efblen o Az I I R v = 2
Where was the statue of a dancing girl
of the Bronze Age discovered?
e T TORSl ERER I F =ik
0 2R 2

( Turn Over )



(d)

(2)

Who was the first person to declare
that the earth is round?

Rt Il s B e i G R PR I
G == 7

(e} Who was the author of Brahmasphuta-
siddhanta?
FErE-Prae’d e T wiRE 2
(i’ Who was the royal physician of King
Bimbisara?
w1 RfETE = BRem @m =it ?
(g Who was known as the Father of
Indian Surgery’?
SR e BT Py’ 3 T w2
2. Answer the following questions : . 2x4=8
were fra e T foi
(@) Name two important sites where
Palaeolithic materials were found.
TR oA e Ta Gl e el S
™ i
(p) Name two occupations of the people
of Neolithic Age.
AT I T o1 S T ey
A7/360 ( Continued )

" (¢) Mention two
communicatio
Valley Civiliza
fg 7R @
IJRER ToEd 9

(d) Name two bool
2T SFFq 7Nl 9

8. Write short notes
following :
e fral {1 e fof
(@) Agro-technolog
TR 3o TR-2
(b) Northern Blac]
i @S 'fEne
(c) Law of Motion
g
(d) Brahmagupta
FRed

4. Answer any three of

=T firl A R @
(@) Write how th
Neolithic Cu
changes in hu

CEE il e OS]
T A |
A7/360



(4)

(b) Write a note on the technological
development of the Mesolithic Period.

TP Yoo ofer Rerm e oft Gl
o

(c) Discuss the development of arts and
crafts in the Bronze Age.

' Tors PR R Fefc sease <441 |

(d) Write the contribution of Charaka in
the field of Indian medicine.

sHen BRifRemts wea . e
o 1

(e) Discuss the contribution of early
Indians to the field of Mathematics.

MM o4 =@y @R s o
A 4T |

() How was oil prepared in early and
medieval India?

ﬁﬁqumwmmmw
a2

* % ok
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2016
HISTORY
( Major )
Paper : 5.5
[ History of Great Britain (1485-1820) ]
Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions in one word or

one sentence each : 1x7=7
Fafie axrrEa $eT 9 A b f
(a) What is ‘Malus Intercursus’?
‘eTs THRIE @2
(b) What is the theory of Divine Right of
Kingship?
ife e SREE 4Re 2
(c) Who were the Puritans?
PrefbrrRee @ e 2
(d) How did the English East India Company
acquire Bombay?
%:F5 22 W @G @R e ST
fRfkE 2

A7/361 ( Turn Over )



(2)

(e) Who was Robert Walpole?
A AT @ 1 2

() What is the Petition of Rights of 1628?
suyy-3 SfeR =i f wfe 2

(g) In which year did England sign the Act of
Union with Scotland?

SereCe THANT CTS (IR e a5

T ?
2. Answer the following in brief : 2x4=8
ez v1s e i :
(a) What do you understand by ‘counter
reformation’?

‘FEoR R 3 afewem e & g@?

(b) What was the effect of the conversion of
arable land into pastures in England
during the Tudor period?

Ees Bom e femfe cnbRts AReew
T FAE 5 Fife 2

(c) What were the main causes of conflict
between James I and Parliament?

A4 (O HE e TS (FA TR 24
FAPHR & =ifewro

(d) What is William Pit, the Younger’s
contribution to the history of England?
s PF, M W wemet [EE wm
2

A7/361 ( Continued )

3. Write short notes
following :

RN & @ ok

(@) Thomas Wolsey
BT5 @S

(b) Elizabeth’s War w
GfeTEEER oo =i

{¢) The Long Parliame
T =12 “nfefacTs

(d) The South Sea Bu
fit o1%e fo A=, a3

fe) Social effects of the
on England

EASS @R ST

4. Answer any three of th

e & e BRtR ©

(a) Critically discuss
Henry VIII defied t
BN R [ HE G
tezE, aft FRCABT

(b) The accession of 1
popular but her
welcomed. Discuss
A oA e
wfeE, o T8
HITAT 4T

A7/351



(4)

(c) “The restoration of Monarchy was a

triumph less of the Monarchy than of
the Church of England.” Explain this
statement with reference to the period
1660-1688.
*“3Age qeregd o[ Afedl @R IET qEeEd
e MEE T wie 3 Rabe afm i
FYER WCEAGT SLYo-S by FHIREAA TS
e 01

(d) Discuss the Acts passed by William III for
securing the liberty of the subjects.

o TS e SfEeEE A TR I
SRPTE, ST T4 |

(e) Trace the origin and development of
political parties in England in the 17th
century and explain the main issues that
divided the Whigs and the Tories.

G *fFTe AL ARAT R wifesi
Tt qeefiat A 2251 (Whig) I 5°Ft (Tory)-
TG TGS TS FIATTZ D 747 |

() Account for the loss of the British

colonies in America during the reign of
George 1L

PO W NS e WS aw
(OSETR SARTPITR (R IR forey |

* k&
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2016

HISTORY
( Major )
Paper : 5.6
[ History of China (1839-1949) |
Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer all questions

Answer either in English or in Assamese

1. Answer the following questions in one word or
in one sentence : 1x7=7

o iyl T Bl b7 3 TS T

(a) What do you understand by the term
‘Open Door Policy’?
‘yorER AR T 7 3o

(b) Name the treaty Big.ned in 1842 which
brought the First Opium War to an end.

o2y SPEE 9@ IR I5 e wRew I3
S¥83 5S FFRS (A1 B Wi foper o

A7/362 " ( Turn Over )



(2)

(c) Who was Tz'u Hsi? (d) Who formed th

Eﬁ @ 1%E 2 purpose was i
(d) In which year was the Treaty of e S’ G,
Shimonoseki signed?

& 5o B s o el tafew ! 3. ;Z;;J::Vi nsgh?rt notes
(e) Illl‘;alr'r; the leader of the Kuomintang S ae
CISRGR 7o GTeTeER W fre | (a) Lorcha-Arrow ]
(/i Who was John Hay? b1~ Tl
T @ @ e 7 (b) Causes of Box
(g) Name the place where the Chinese : THA AR T
Communist Party was founded in 1921. | (c) Significance of
3335 IS (PR IS TROPT TR e s ' 513 Rear O
1 C=f%E 2 (d) Mao Tse-tung
2. Answer the following in brief : 2x4=8 e Cﬁ—§§ :
s fian enpTEd videe T fi (e) Second United
(@) What do you understand by ‘Unequal S g e :
"rreaty,? » » 4. Answer any three c
2% G e R e feoE ©

(b) What were the major reforms attempted I

ine the
by the Self-Strengthening Movement of (a) Examine

China? #  opening of Chir
TR : factor?
e DAL S A @RI IR
SRER AN R %1 <1 C2fee o 4
(c) Who was Yuan Shikai? ! mﬁf{'ﬂﬁ
74 B @ ik 9
A7/362

FiPo% ( Continued )



(b)

o

(e)

e

A7—4000/362

(4)

Discuss the causes and nature of Taiping
Rebellion.

5P Reara TR = s o |

Bring out the changes effected by
Revolution of 1911 in the history of
China. To what extent was it successful?
553> T R @@ BRoTe e 40

Rz Ty 7911 @ R RewewE s
e

Assess the contributions of Sun Yat-sen
to the political history of China.

TorR AT BfeTtE B G- (eE el
HCEATG 41 1

Briefly discuss the struggle between the
Nationalists and the Communists in
China. How did the Communists come to
power in 1949?

P CIRSISEOS S Sl
@l 799 [0 FlE A T 3585 baw

FYMETRICE (FCCa 59l oS Tee 7

Review the history of Communist Party of
China from 1921 to 1949.

5535 TR Al S585 bellel DACeR e v
2oz R 4 |

* kK
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